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GEOGRAPHY — GENERAL

Fourth Paper
Full Marks : 70

Candidates are required to give their answers in their own words
as far as practicable.
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Module - VIII
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[ English Version |
The figures in the margin indicate full marks.

Module - VII
(Marks : 50)

Category - A

Answer any one question.
1. Define land and discuss the attributes of land.
2. Classify rural settlements according to functions.

3. Discuss the impact of urbanisation on environment with suitable examples.
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. Describe the functional morphology of urban settlements with the help of concentric zone theory.

. Discuss the determining factors of land use.

Category - B

Answer any two questions.

. What are the factors responsible for development of linear settlements?

. What are the negative impacts on land in mining region?

Differentiate between temporary and permanent settlements.

. What do you mean by landuse planning?

What are the characteristics of rural housetype in heavy rainfall areas?
What is the importance of wetlands in maintaining ecological balance?
What are the characteristics of administrative towns?

Classify rural settlements according to size.

Module - VIII
(Marks : 20)

Answer any two questions.
What is remote sensing? Discuss the advantages of remote sensing.
What are the methods of preparation of economic maps?
Mention the characteristics of I R S imageries.
What are cadastral maps? What are its advantages and disadvantages?
What are the tools required for interpretation of air photos?
In what ways are satellite imageries and air photos important to geographers?
What are the differences between ‘Sun-synchronous’ and ‘Geo-stationary’ satellites?

What do you mean by EMR? Discuss the characteristics of visible light of EMS.
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